







Find program and put address in regDE





Start





Add 8 to regDE to point to counterLSB





Define 2-byte counter





Does    counterLSB = 99





Yes





Yes





Does    counterMSB = 99





No








No








INC counterMSB





Zero counterLSB





StoAns and RET





End





BuildOP1





INC counterLSB





BuildOP1





OP1Set0 and     regHL points to exponent byte





Does    counterMSB = 0





Yes





Yes





Is          counterLSB < 10





Shift counterLSB nibbles





No





No





Is         counterMSB < 10





$80 for 1 digit





$81 for 2 digits





INC regHL and LD counterLSB at (HL)





No





Yes





$82 for 3 digits





$83 for 4 digits





RET





END BuildOP1





Shift16for3digNum























INC regHL and LD counter16 at (HL)








